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MAIN POINTS 

 

 The WP6‐Math case study 
 

 A motivating experience (CANGUR) 
 

 WebALT MGL 
 

 WP6‐Math planning  
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The WP6‐Math case study 

  
Driving a meaningful dialog with the learner  
in the context of mathematics word problems 
 
GF based 
  simple drill library 
  driving a CAS with NL 
  dialog management for word problems 
 
Pushing forward the WebALT  MGL 
 
Showing the possibilities of the interlingua concept 
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A motivating experience (CANGUR) 

 

Level 1 2 3  4
Age  14 15 16  17

 

2009‐1   2009‐2   2009‐3   2009‐4 

 

  Peter O’Holloran (Australia) 

  1991 Le Kangourou 

  1996 Cangur 

  30 questions, 75 min 

  Calculators not allowed 



5 
 

4. (Rússia) Quina és la quantitat més petita de xifres que cal esborrar en 
el nombre 12323314 per tal de trobar un nombre capicua? 

A) 1   B) 2   C) 3   D) 4   E) 5 

 

4. (Russia) What is the least number of digits you need to delete in the 
number 12323314 in order to find a palindrome? 

A) 1   B) 2   C) 3   D) 4   E) 5 

 

GOOGLE 

What is the smallest amount of numbers you need to delete | the number 
12323314 in order to find a number Capicua? 

palindrome: the number remains the same when written in reverse order, like 

  13331  
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5. (Ukraine) We have three boxes: one is white, another is red and the 
last is black. One is empty, one has an apple, and another has a chocolate 
bar. Find what color is the box that has the chocolate bar if we know that 
the chocolate is in the white box or in red box and the apple is neither in 
the white box nor in the black box. 

A) White   B) Red C)   Black   D) Red or Black 
E)  It is impossible to know 

Google (Cat→Eng) 

5. (Ukraine) We have three boxes: one white, one red and another black. 
One is empty, | there is an apple, and the other a chocolate bar. Find 
what color is the box where you know that chocolate is | the chocolate 
box or white box red apple and is neither in the white box or the black 
box. 
   A) White   B) Red  C) Black   D) Red or Black 
   E) It is impossible to know  
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Andrew Jobbings ‘discussion papers’ 

 

 

 

 

 

 

 

 

 

Many other countries that did not send data answer 
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WebALT MGL 

   

Multilingual repository of mathematical problems 

    EN, CA, ES, FI, IT, SV, FR (old labels) 

    → First exposure to GF  

Hindrances  

  It did not work for GF >2.9 

  Was not modular 

Need to include more languages 
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WP6‐Math planning 
 

Breaking W‐MGL into CD modules 

(CD: a way to agree on naming objects) 
 

Code upgrade to GF 3.1 (Eng, Cat, Spa, Ita, Fre, Ger) 

 

Extension to other languages (Swe, Dan, Bul, Pol, Fin, Dut)
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Благодаря! 
¡Thank you! 


